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1) H&R Block has offered “instant refunds” for taxpayers, which are in practice a short-term loan to cover the time until the refund check arrives. Fred Gullible decides to use this service and is charged $50 for a loan of $1000 for the month until his refund check arrives. 

a) What is the nominal rate of interest per year?

b) What is the effective rate of interest per year?

i = 50/1000 = 5%(per month)

5% x 12 = 60% (nominal rate)

(1+0.05)12 - 1 = 80% (effective rate)

1) The ACME Company is considering two alternatives for database servers, the SFD system and the YNot system. Both can meet the requirements. The costs/benefits of each are as follows:

Cost

UAB

Salvage Value


SFD

$1.5m

$300,000
$200,000


YNot

$2m

$400,000
$500,000

Show using shorthand economic form, the NET PRESENT WORTH of each. Assume SFD has a useful life of 6 years and YNot has a useful life of 3 years. (i=8% )

PV(SFD) = -1.5m + 300,000(P/A, 8%, 6) + 200,000(P/F, 8%, 6)

PV(YNot) = -2m + 400,000(P/A, 8%, 6) + (500,000 - 2m)(P/F, 8%, 3) + 500,000(P/F,8%,6)

a) What is meant by 

i) Current Assets?

Cash or assets convertible into cash at short notice (usually less than 1 year).
ii) Accounts Receivable?

see notes
b) What is Metcalf’s Law

see notes

c) Give an example of the application of Metcalf’s Law

see notes

d) Why does a “winner takes all” market often take place with information products?

see notes

2) An investment has a NPV of $80 at an interest rate of 9% and a NPV of $–35 at 15%. Use interpolation to calculate the internal rate of return.

interpolation: 

9%, NPV = 80

15%, NPV = -35

x%, NPV = 0

(x-9)/(15-9) = (0-80)/(-35-80)

x = 13.17%

